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Read the following instructions carefully before you begin to attempt the questions.
This booklet contains 150 questions in all comprising the following five parts.

e Part-(l) : Child Development & Pedagogy (30 Questions)
e Part-(ll) : Hindi Language (30 Questions)
e Part-(lll) : English Language (OR) Sanskrit (30 Questions)
e Part-(VI) : Mathematics (30 Questions)
e Part-(V) : Environmental Studies (30 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions you must explore this booklet and ensure that it contains all the pages and find that no
page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately.

There is no negative marking.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll number, Test
name/ld and name of the examination on the Answer-Sheet carefully before you actually start attempting the questions. You
must also put your signature on the Answer-Sheet at the prescribed place. These instructions must be fully complied with, failing
which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant question
number by pencil or Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different from the
information given in the application form, the candidature of such candidate will be treated as cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be deemed fit.
Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not spend
too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates are
advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in their own
interest. Failing to comply with this provision will be considered as using unfair means in the examination and action will be
taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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Child Development & Pedagog

What is the objective of Sarv Shiksha Abhiyan?
(A) Universal Elementary Education programme
(B) To fill the gender gap

(C) Higher education

(D) All of the above

Who proposed the concept General intelligence or ‘g’
factor?

(A) Jean Piaget

(C) Howard Gardener

(B) Charles Spearman
(D) L. L Thurstone

Which of these is a characteristic of intelligence?
(A) Inability to adapt

(B) No learning from past experience

(C) All round mental efficiency

(D) Inability for abstract thinking

Psychometry Does not come under mental
discrimination?

(A) Interest related secrets (B) Merit distinguish
(C) Natural difference

(D) Physical structure distinction

If your head teacher gets annoyed without any reason,
you -

(A) Ask the reason and explain them

(B) Will accept their mistake for their happiness

(C) Will boldly follow your duty

(D) He will be criticized

What are important when writing on Blackboard?
(A) Good handwriting (B) Clarity in writing
(C) Write in Capital letters (D) Write in small letters

A child builds a house again and again, what will you
think of it?

(A) Always keep an eye on it

(B) Encourage his curiosity to transmit his energy in the
right direction

(C) Explain to him that the house does not break

(D) Will not build house

Which scholar has given two types of complex children?
(A) By bert (B) By Fraid
(C) By Skinner (D) None of these

The physical characteristics of the environment are
affected most of the work, which statement is true in
relation to this.

(A) The child's personality has more impact on
educational achievements.

(B) The direct impact of the environment is on the
physical symptoms.

(C) Environment has more impact on nature.

(D) None of the above said.

Normal and permanent adjustment is the only
personality with the environment. This statement is -

(A) Valentine (B) Woodworth

(C) Boring (D) Ollport

Which of the following would work for the teacher as an
effective compliment?

(A) Tells the students the importance of their abilities or
performance.

(B) The focus of the students on the behavior related to
their work.

(C) Describes the current performance of the students
in reference to the other peers in their group.

(D) Then if the student can not control his behavior, he
provides positive behavioral support.
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Which of the following is a good practice in terms of
determining the behavior of a child?

(A) When there are many motivators in front of a child,
some of them are more effective

(B) Every child makes maximum effort to satisfy the
needs

(C) When there are many goals in front of a child, all
the targets are for him.

(D) When there are many goals in front of a child, all
goals are the same for them

Who has said - "Wisdom is new and the ability to make
proper time zone in different types of situations."

(A) Wesler (B) Terman

(C) Cruise (D) Eibinghas

The children who display problems in speaking,
listening and writing languages, are afflicted.

(A) From dyspraxia (B) From dysphagia

(C) From dyslexia (D) From dyscalculia

Education is provided to children of 3-5 age group-
(A) Formal (B) Informal
(C) unceremonious (D) All three

Learning disabilities may occur due to all of the
following except.

(A) Cerebral dysfunction ~ (B) Emotional disturbance
(C) Behavioural disturbance (D) Cultural factors

Learning Disability in motor skills is called
(A) Dyspraxia (B) Dyscalculia
(C) Dyslexia (D) Dysphasia

According to Carl Rogers, which of the following are the
necessary and sufficient conditions for counselling
therapy.

(A) Incongruence, positive regard

(B) Sympathy, congruence, conditional positive regard
(C) Empathy, congruence, unconditional positive regard
(D) Conditional positive regard, incongruence, love

A teacher’s most important challenge is

(A) to make students to their homework

(B) to make teaching-learning process enjoyable
(C) to maintain discipline in the classroom

(D) to prepare the question paper

Which age does the absence of logical abilities in any
child?

(A) 7 years
(C) 10 years

(B) 9 years
(D) 14 years

In the classroom, if the students are not interested in
studies, what will you do in such a situation?

(A) Will use the interesting learning method

(B) Will tell stories

(C) Leave the class

(D) None of the appropriate

The effect of fear and punishment can make children
undisciplined-
(A) Agree with
(C) Partially agree

(B) Completely disagree
(D) Uncertain

Which do not affect genetics-

(A) Participation in social activities
(B) Eye color

(C) Physical formation

(D) height

I have to take admission in this training because-
(A) It is difficult to find another job
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(B) I have a strong desire
(C) My mother wants
(D) It is the easiest to find

Raghav is at peace in the house, but he talks very
much with his friend Gunda, who shows this thing?
(A) Friends wear good clothes

(B) Friends know how to talk more

(C) Teachers are demanding that friends talk more
(D) Friends are more respected by his ideas in school

For a teacher dealing with Classroom of mixed age
group students ......... Knowledge is the most important.
(A) Socio-economic background

(B) The business of their parents

(C) Cultural background

(D) Developmental states

The theory of multiple intelligence was developed by —
(A) Alfred Binet (B) Howard Gardner
(C) Francis Galton (D) B S Bloom

Which one of the following is not a projective test of
personality?

(A) Personality inventories

(B) sentence completion test

(C) Rorschach Ink Block test

(D) Thematic

Which is incorrect about creativity?

(A) Creativity and intelligence always go hand in hand
(B) Creativity is flexible

(C) Creativity is universal concept

(D) Creativity carries ego involvement

In class teaching, Herbert suggested five steps.
Objective-Statement step: -

(A) Come before prelude

(B) Comes in between introduction and presentation
(C) Comes after the introduction and presentation

(D) Comes after generalization
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English Language

Direction (61-63): Read the following passage carefully and
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answer the questions given below it.

In the sixteenth century, an age of great marine and
terrestrial exploration, Ferdinand Magellan led the first
expedition to sail around the world. As a young
Portuguese noble, he served the king of Portugal, but
he became involved in the quagmire of political intrigue
at court and lost the king\'s favor. After he was
dismissed from service to the king of Portugal, he
offered to serve the future Emperor Charles V of Spain.
A papal decree of 1493 had assigned all land in the
New World west of 50 degrees W longitude to Spain
and all the land east of that line to Portugal. Magellan
offered to prove that the East Indies fell under Spanish
authority. On September 20, 1519, Magellan set sail
from Spain with five ships. More than a year later, one
of these ships was exploring the topography of South
America in search of a water route across the continent.
This ship sank, but the remaining four ships searched
along the southern peninsula of South America. Finally
they found the passage they sought near a latitude of
50 degrees S. Magellan named this passage the Strait
of All Saints, but today we know it as the Strait of
Magellan.

One ship deserted while in this passage and returned to
Spain, so fewer sailors were privileged to gaze at that
first panorama of the Pacific Ocean. Those who
remained crossed the meridian we now call the
International Date Line in the early spring of 1521 after
ninety-eight days on the Pacific Ocean. During those
long days at sea, many of Magellan\'s men died of
starvation and disease.

Later Magellan became involved in an insular conflict in
the Philippines and was killed in a tribal battle. Only one
ship and seventeen sailors under the command of the
Basque navigator Elcano survived to complete the
westward journey to Spain and thus prove once and for
all that the world is round, with no precipice at the edge.
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The passage was found near 50 degrees S of ___.
(A) Greenwich (B) The equator
(C) Spain (D) Portugal

Four of the ships sought a passage along a southern

(A) coast

(B) inland

(C) body of land with water on three sides
(D) border

Magellan lost the favor of the king of Portugal when he
became involved in a political ___.

(A) entanglement (B) discussion

(C) negotiation (D) problems

Direction (64-65): In the following questions, some of the

64.

65.

sentences have errors and some have none. Find out
which part of the sentence has an error. The number of
that part is your answer. If there is no error, the answer
would be (D).

Raju had made a list (a)/ of all the toys (b)/ he wants to
purchase. (c)/ No error (d)

(A)a (B) b

©)c (D) d

How much persons (a)/ do you have (b)/ in your family.
(c)/ No error (d)

(A)a (B)b

©c (D) d

Direction (66-68): Read the poem given below and answer

66.

67.

68.

the questions that follow by selecting the most
appropriate option.

Not gold, but only men can make. A people great and
strong. Men who, for truth and honour's sake. Stand
fast and suffer long. Brave men who work while others
sleep, who dare while others fly. They build a nation’s
pillars deep, and lift them to Sky.

A nation and a building both require?
(A) People (B) Security
(C) Deep foundation (D) Wealth

What can make a nation great?
(A) Wealth

(B) Wealth and people

(C) Good and devoted citizens
(D) A big army

Honour’s sake means-

(A) for their own honour

(B) for the sake of the other people
(C) for their pride

(D) for the sake of the nation’s honour

Direction (69-71): In the following questions, choose the word

69.

70.

71.
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opposite in meaning to the given word.

Mayhem

(A) Havoc (B) Harmony
(C) Defeat (D) Regret
Minuscule

(A) Minute (B) Menial

(C) Massive (D) Impressive
AMENDMENT

(A) Correction (B) Polarised
(C) Improvement (D) Worsening

Direction (72-77): Sentences are given with blanks to be filled
in with an appropriate Preposition. Some alternatives
are suggested for each question. Choose the correct
alternative out of given alternatives.

72. My parents have been married forty-nine years.
(A) since (B) for
(C) until (D) till
73. My friends are waiting __ me __ the mall.
(A) on, For (B) for, at
(C) by, With (D) at, To
74. Grandpa stayed up two in the morning.
(A) till (B) until
(C) since (D) for
75.  What are the main ingredients this casserole?
(A) on (B) about
(C) to (D) of
76. My best friend, John, is named his great-
grandfather.
(A) after (B) to
(C) about (D) in
77. The professor South Africa amazed the
American students with her stories.
(A) from (B) of
(C)on (D) in

Direction (78-79): In the following questions, a sentence has
been given in Active Voice/ Passive Voice. Out of the
four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active Voice.

78.  Has a dog ever bitten you?
(A) Has you ever been bitten by a day?
(B) Have you ever bites you?
(C) You are bitten by a dog
(D) Have you ever been bitten by a dog?

79.  Women like men to flatter them.
(A) Men are liked by women to flatter them.
(B) Women like to be flattered by men.
(C) Women like that men should flatter them.
(D) Women are liked to be flattered by men.

80. In the following questions out of the four/five
alternatives, choose the one which is best express the
meaning of the given word.

Intestate
(A) Testate (B) Propinquity
(C) Bankrupt (D) To be on leave
81. In the following question, a sentence is given with a

blank to be filled in with an appropriate word. Select the
correct alternative out of the four and indicate it by
selecting the appropriate option.

Heis witty _ vulgar.
(A) that (B) because
(C) though (D) so
82. In each group of words given below only one word is
spelt correctly. Choose the correct word.
(A) Nutritous (B) Nutrishus
(C) Nutritius (D) Nutritious
83. Find the past participle of the given verb.
Rose
(A) Rise (B) Risen
(C) Rosen (D) Rosed
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84.

Convert the following sentence into indirect speech.
The judge of the show said, “Can you dance?” and she
said, “No”.

(A) The judge of the show asked her if she could dance
and she said that she couldn’t.

(B) The judge of the show asked her if she could do the
dance and she said that she can’t.

(C) The judge of the show inquired her if she can dance
and she said that she can't.

(D) The judge of the show asked her if she can dance
and she said that she can’t.

Directions (85-90): Fill in the blank with the correct

85.

86.

87.

88.

89.

90.

61.

62.

63.

64.

65.
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preposition.

The manager asked the employee to believe
himself.

(A) to (B)in

(C) with (D) for

| do not know where Akansha lives because | have
been of touch for quite some time.

(A) out (B) hardly

(C) scarcely (D) her

Choose the correct part of speech of the underlined
word.

It is a unique book.
(A) Verb

(C) Adjective

(B) Noun
(D) Adverb

Which of the following sounds is not associated with the
sound of water?
(A) Burble
(C) Bubble

(B) Fizz
(D) Chime

In the following question, a sentence has been given in
Active/Passive Voice. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Passive/Active Voice.

The police were searching for the thief.

(A) The police were being searched by the thief.

(B) The thief had been searched by the police.

(C) The thief was being searched by the police.

(D) The thief was searched by the thief.

We have been living here six months.

(A) Ever (B) At

(C) Since (D) for
Sanskrit Language
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Mathematics

If the HCF of 65 and 117 is expressible in the form
65m-117, then the value of m is

(A) 4 (B)2

©1 (D)3

Find the area of an equilateral triangle, the length of
whose sides is 12 cm.
(A) 62v3sq cm
(C) 36v3sq cm

(B) 60V3sq cm
(D) 563sq cm

Ram driving his car covers 150 metres in 25 seconds.
What is his speed in km/hr?
(A) 10.6 km/hr
(C) 16.6 km/hr

(B) 12.6 km/hr
(D) 21.6 km/hr

Factorize 10xy + 5y = ?
(A) =4y(x +2)
(C) =5y (x+2)

(B) =5y (2x + 1)
(D) None of these

The area of the largest sphere (in cm) that can be put
inside a cube of side 18 cm is-

(A) 972 () cm (B) 11664 (1) cm

(C) 36 (m) cm (D) 288 (m) cm

Direction (96-100): Read the following graph carefully and

answer the question given below.

Percent wise distribution of players playing five different
sports Total players = 4200
Rugby,13%

Lawn
Tennis,25%

Football,17%

Cricket,35% Hockey,10%

What is the difference between number of players who
play Cricket and Lawn Tennis?

(A) 360 (B) 420

(C) 540 (D) 450

What is the total number of players who play Football
and Rugby together?

(A) 620 (B) 357

(C) 230 (D) None of these
What will be 80% of a number whose 200% is 907
(A) 180 B) 72

(C) 36 (D) 28
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99. A can do 1/4 part of a work in 10 days, while B can do
1/5 part of the work in 12 days. In how many days can
both do it together?
(A) 30 days (B) 15 days 112.
(C) 24 days (D) 25 days
100. If '+' means X, -' means (+) X' means + and (<) means
- ; compute the value of the expression:
45-9+4x5
(A)21 (B) 25 113.
(C) 26 (D) 23
101. A horse has been tied up with a 5 m long rope on a
corner of a square grass field with 15 m side. Find the
area of that part of the field where the horse can graze.
(A) 19.625(m?) (B) 9.625(m?)
(C) 10.265(m?) (D) 49.265(m?)
114.
102. Mohan, Ritika, Janvi, Priya and Riya are friends. Janvi
runs faster than Ritika but slower than Priya. Mohan is
the slowest runner and Riya runs faster than Priya.
Who runs the fastest among the five?
(A) Priya (B) Riya
(C) Ritika (D) Mohan 115.
103. If the area of three adjacent faces of a rectangular box
which meet in the corner are 12 (cm?), 15(cm?) and
20 (cm?) respectively. Then the volume of the box is: 116.
(A) 3600(cm3) (B) 300(cm?3)
(C) 60(cm3) (D) 180(cm?3)
5
104. Find the value of ((— g) )?
32 -32
() (%?) (8) (%2
©(3) © (-3)
117.
105. Find the value of (3% x 3%x 3-%) =?
(A)1 (B) 2
(C)5 (D) 6
106. Find out the odd word/ letters/ number/ pair from the
given alternatives.
(A) 358 (B) 853 118.
(C) 538 (D) 240
107. Amitabh covered a distance of 96 km two hours faster
than he had planned to. This he achieved by travelling
1 km more every hour than he intended to cover every 119.
1 hour 15 minutes. What was the speed at which
Amitabh travelled during the journey?
(A) 16 km/hr (B) 26 km/hr
(C) 36 km/hr (D) 30 km/hr
120.
108. When n is divisible by 5 the remainder is 2, What is the
remainder when n? is divided by 5 is -
(A) 2 (B) 3
©)1 (D) 4
109. There would be a 10% loss. If rice is sold at Rs. 54 per
kg. To earn a profit of 20%, the price of rice per kg will
be.
(A)Rs. 72 (B) Rs. 70 121.
(C) Rs. 63 (D) Rs. 65
110. What value should come in the place of question mark
(?) in the following questions? 122.
292 + 52% of 900 — (3/7) of 1750 =7 - 113
(A) 1900 (B) 1890
(C) 1820 (D) 1840
123.
111. An integer is 12 more than its one-fourth part. Find
integer.
App :- http://bitly/TesMusPrime 8|Page

(A) 20 (B) 16
(C)12 (D)8

Find the difference between the place value of 6 and
the face value of 4 in 56431.

(A) 2 (B) 999
(C) 5600 (D) 5996

Which of the following statements is incorrect?

(A) If the four quantities a, b, c, d are proportional then
axd=bxc.

(B) If a, b, ¢, d are proportional then ac = bd

(C) The inverse proportion of proportiona: bisb:a

(D) If three quantities a, b, ¢ are in geometric
progression, then b 2 = ac

The average age of four girls A, B, C and D is 15 years
and the average age of A, B, D, X is 18 years and C is
6 years old. Then find the age of girl X is (in years)?

(A) 16 years (B) 18 years

(C) 14 years (D) 20 years

Find the value of (101?) .
(A) 10222
(C) 10102

(B) 10201
(D) 10111

Find the missing character in the following-

(C) 47

In each of the following questions, a series is given with
one term missing. Choose the correct alternatives from
the given ones that will complete the series.

3,6,9, 36,41, 7
(A) 244

(C) 246

(B) 225
(D) 410

A train whose length is 270 meters, crosses one pillar in
9 seconds. Make her move km in hourly.

(A) 118 km/hr (B) 120 km/hr

(C) 180 km/hr (D) 108 km/hr

The perimeter of one face of a cube is 24 cm. Its
volume will be
(A) 196 cm?
(C) 216 cm?

(B) 200 cm?
(D) 256 cm?

Answer the following questions by selecting the most
appropriate option.

Find the number of sides of a regular polygon whose
each exterior angle has a measure of 45°

(A)8 (B) 10

(C)6 (D)4

Environmental Studies

From the bark of which plant quinine extracted?
(A) Eucalyptus (B) Cinchona

(C) Neem (D) Cedar
Which plant is called Herbal —Indian Doctor?
(A) Neem (B) Amla

(C) Mango (D) Tulsi

Due to the presence of which substance, hot peppers
produce a burning sensation in our mouth?
(A) Corolla (B) Calyx
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(C) Caffeine (D) Capsaicin 139.
124. s there a legally reserved area for wildlife in its natural
surroundings?
(A) Biosphere Reserves (B) Sanctuary
(C) Social forest (D) National park
125. On turning the glass on the burning candle, it
extinguishes after a while, whose unavailability is due to 140.
it?
(A) Oxygen (B) Water vapour
(C) carbon dioxide (D) Wax
126. Which of the following valleys has the highest
biodiversity in the valley?
(A) Flower Valley (B) Surma Valley 141.
(C) tranquil valley (D) Kashmir Valley
127. Which layer of the atmosphere is responsible for the
north polar light? 142.
(A) Troposphere (B) Stratosphere
(C) lonosphere (D) Exosphere
128. How much is the temperature on the solar page? 143.
(A) 800°C (B) 600°C
(C) 6000°C (D) 10000°C
129. When did the Wildlife (Protection) Act come into force in
India?
(A) 1982 (B) 1962
(C) 1972 (D) 1992 144.
130. Due to deforestation?
(A) Soil erosion (B) Fertile soil of soil
(C) Land conservation (D) Pollution 145.
131. Dudhwa National Park is located in which state?
(A) Assam (B) Madhya Pradesh
(C) Uttar Pradesh (D) Karnataka
132. In which state the sun is the first of which of the 146.
following?
(A) Assam (B) Mizoram
(C) Arunachal Pradesh (D) Nagaland
147.
133. In which state is the Kavti Waterfalls located?
(A) Madhya Pradesh (B) Uttar Pradesh
(C) Maharashtra (D) Karnataka
148.
134. Bishop Waterfall is in which state?
(A) Meghalaya (B) Manipur
(C) Mizoram (D) Nagaland
149.
135. Which planet is called God of Beauty?
(A) Venus planet (B) Lunar planet
(C) Saturn planet (D) Mercury Planet
136. Where is the world's only floating national park, Kibul 150.
Lamjao?
(A) Nepal (B) Bhutan
(C) Manipur (D) Mizoram
137. World wild life fund was founded in :
(A) 1969 (B) 1992
(C) 1961 (D) 1965
138. Who among the following presides over a joint sitting of
both the houses summoned by the President of India?
(A) Chairman of Rajya Sabha
(B) Speaker of Lok Sabha
(C) President of India
(D) Prime Minister of India
App :- http://bitly/TesMusPrime 9|Page

Vice-President of India is also ex-officio chairman of

(A) Lok Sabha

(B) Rajya Sabha

(C) Parliament

(D) Union Public Service Commission Sabha

Which amendment act of of Indian constitution provides
three tier system in every state?

(A) 81t amendment act,2000

(B) 715t amendment act,1992

(C) 82" amendment act,2000

(D) 739amendment act,1992

What is the relation of the round revolution?
(A) Tomato Production (B) Turnip production
(C) Egg production (D) Potato production

Kalgurali Located in australia is famous for whom?
(A) preservation (B) Gold production
(C) Perfect climate (D) Education Center

Which type of forest is the extension of most of the area
in India?

(A) Tropical deciduous forest

(B) Thorn forest

(C) Tropical evergreen forest

(D) Mountain forest

The most clean fuel is considered-
(A) Upla (B) petrol
(C) Kerosene (D) hydrogen gas

The precious tree species are found in forest of pine -
(A) In eastern Himalaya

(B) In Western Himalayas

(C) In the Western Ghats

(D) In the Nilgiris mountain range

The fastest growing plant in the world?
(A) bamboo (B) Rice
(C) Moneyplant (D) Teak

What is water of cocunut?
(A) Nucellus
(C) Placenta

(B) Mesocarp
(D) Fleshy thalamus

IUCN categorized major threatened species under .
(A) seven classes (B) five classes
(C) six classes (D) four classes

The green colour of the leaves is due to the presence of

(A) Proteiﬁs
(C) Chlorophyll

(B) Lipids
(D) Carbohydrates

What is Boron?
(A) Non-metals
(C) Compound

(B) Metal
(D) metalloid
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Child Development & Pedagog
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Sarv Shiksha Abhiyan is a comprehensive
and integrated flagship program. Its aim is
to provide universal elementary education
program in the age group of 6 to 14 years
by 2010.

The general intelligence or ‘g’ factor was
first proposed by Charles spearman in 1904.
His idea was that the underlying general
intelligence was responsible for
performance on all cognitive tasks. He
noted that while people do excel in certain
areas but people who did well in one area
had a general tendency to do well in other
areas.

Few characteristics of intelligence are:

i. It means all round mental efficiency

ii. It gives the ability to adapt to new
situations

iii. It means the capacity to learn from past
experience

iv.It gives the ability for abstract thinking
There is no physical structure distinction
between mental discrimination

If your head teacher gets annoyed without any
reason, then you will firmly follow your duty.
Good handwriting is important when writing on
the blackboard.

Encourage his curiosity to transmit his energy in
the right direction, in such a way that the
creativity of the child should be identified so that
his abilittes and capacity can be properly
developed which can benefit the society besides
the children.

A new method for learning by Skinner, given
programmed learning, has created a stir in
education psychology. Modern psychologists
have considered this method as very important
and they have success in teaching many types
of lessons.

The child has to make adjustments with his
social environment. That's why teachers
establish adjustments in education and society
environment.

According to boring- 'Normal and permanent
adjustment with environment is only personality'.
In the form of an effective appreciation, the
teacher will be able to inform the students about
the importance of their abilities or performance.
Inspiration is the main basis of learning process
and a powerful way of learning that can be used
by teachers and children to reach their potential,
so when there are many motivators in front of a
child, some of them are more effective

Cruise has defined intelligence as"Wisdom is
new and the ability to make proper timezone in
different types of situations."

Learning disabilities have been differentiated on
many different types of grounds. Learning-
related difficulties, related to temporary problems
of hearing, sight, health, speech and momentum
etc. The children who display problems in
speaking, listening and writing of language,
suffer from dysphagia.

Children of 3-5 age group are given formal,
Informal, unceremonious education.

Learning disabilities are disorders that
affect one's ability to understand or use
spoken or written language, do
mathematical calculations, coordinate
movements or direct attention. Although
learning disabilities occur in very young

Ans.17(A)

Ans.18(C)

Ans.19(B)
Ans.20(A)

Ans.21(A)

Ans.22(D)

Ans.23(B)

Ans.24(B)

Ans.25(D)

Ans.26(D)

Ans.27(B)

Ans.28(B)

Ans.29(A)

Ans.30(B)
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children, disorders are usually not
recognized until a child reaches school age.
A theory is that learning disabilities stem
from subtle disturbances in brain structure
and function that may begin before birth.
Other possibilities include: Genetic
predisposition, substance abuse by the
mother prior to, during, and after pregnancy,
problems during pregnancy or delivery,
environmental Toxins, central nervous
System Infections and many more.

Learning Disability in motor skills is called
Dyspraxia.lt affects developmental
coordination disorder, motor learning
difficulty, motor planning difficulty and
apraxia of speech. It can affect the
development of gross motor skills like
walking or jumping.

According to Carl Rogers, unconditional
positive regard refers to accepting and
loving the person the way he/she s,
congruence is a state where a person’s real
experiences and ideal self is similar. The
development of congruence is dependent on
the unconditional positive regard and
empathy.

Most important challenge for a teacher is to
make learning interesting.

Lack of logical abilities in any child lasts for 7
years.

In the classroom, if students are not interested in
studies, would they use an interesting learning
method.

"The impact of fear and punishment can make
children undisciplined” This statement is
uncertain.

By the jeans the person attains the qualities of
his parents, this is called Genetics. Genetics is
not responsible for the behavior of the person.

| have to take admission in this training because
| have a strong desire.

Children of general age create a separate group,
which is called friends. So that he can express
his thoughts well.

Knowledge of the developmental states is the
most important for a teacher who is studying
with the class of mixed-age students.

The theory of multiple intelligence was
propounded by Howard Gardner in his 1983
book Frames of Minds.  This theory has
emerged from cognitive research and
“‘documents the extent to which students
possess different kinds of minds and
therefore learn, remember, perform, and
understand in different ways,”.

Sentence completion is not a projective test
of personality while all others are test of
personality.

Projective test is a personality test designed
to let a person respond to ambiguous
stimuli, presumably revealing hidden
emotions and internal conflicts projected by
the person into the test.

An unwise man can be creative. Creativity
for example exists in a child. Creativity is a
phenomenon whereby something new and
somehow valuable is formed. The created
item may be intangible (such as an idea, a
scientific theory, a musical composition, or a
joke) or a physical object.
Comes in between
presentation.

introduction and
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Ans.45(C)
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Ans.47(D) SN Ans.72
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e 3T SHBRE 7T g g Ans.73(B)
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7| IATR! He Pl U J1 P Sgd LA | Ans.75(D)
Ans.50(D) f&® + 3R Ans.76(A)
Ans.51(A)
Ans.52(C)  ©W 9gd S8 3 &R I 8 §, afe &9 foredt Y o Ans.77(A)
BT HIHR T 2|
Ans.53(B) tri%mﬂme«nv@ﬁﬂ‘sﬁ% @ Ig) AT 3| Ans.78(D)
Ans.54(A) TS T Sitad &1 IUHT el e | &1 g
Ans.55(B)  SIH §H 4T & GeHR BT MY faermer 3
Ans.56(D) %ﬂgﬁsﬁ?&wﬁﬁ@ﬁ@ﬁéﬁ%ﬁﬁrﬁm
|
Ans.57(D) %ﬂﬂ g ¥ Wsal & YA § §gd Qayr SRat Ans.79(B)
|
Ans.58(C) ifya arem - firy ol &t 39 U @ ifie W
YR gl J it €, N U v areg g §
T4 QIR A1 ST gYar 71 Ay I o vy arag Ans.80(A)
P T IUATH F Sre~ & forg s g & b, N,
S, 9¥, I (SN AT BEAd HIA § 98 IHA @
WA & - i arew ) few e are § o wreq T WA Ans.81(C)
forar o1 B a1 9190 § U ¥ Sife T YR are
1 UG g3 gl
Ans.59(A) 5 aradl o gaar &1 bt g, om=m a1 eftafe @1
Ny BT 2, I SWAES a1 HEd B
JTTERYT - YT R arafg HY |
fau U I/ ¥ 3BT Ude @t T 3 fF g U @
37 37a: f&ar T aTe STaTa S AT § Ans.82(D
Ans.60(B)  H Ted - U Wrea o A 3 Y e B @ ns.82(D)
A et Head ¢l
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English Language

The passage was found near 50 degrees S of
the equator.

Four of the ships sought a passage along a
southern body of land with water on three sides.
Magellan lost the favor of the king of Portugal
when he became involved in a political
entanglement.

It should be ‘wanted’ in place of 'wants' following
the rule of consistency of tense.

Much is used for uncountable noun while
many is used for countable. So use of many is
correct. Correct sentence — How many
persons do you have in your family.

A nation and a building both require deep
foundation.

Good and devoted citizens can make a nation
great.

Honour's sake means for the sake of the
nation’s honour.

Mayhem: violent or extreme disorder; chaos.
Being opposite in meaning both Mayhem and
Harmony are antonyms to each other.

Harmony - the quality of forming a pleasing and
consistent whole orthe state of being in
agreement or Concord.

Havoc - widespread destruction.

Minuscule- extremely small; tiny.

Massive - large and heavy or solid.

Menial - (of work) not requiring much skill and
lacking prestige.

The opposite word is Worsening.
AMENDMENT - something which is added to
soil in order to improve its texture or fertility.
Polarised - divide or cause to divide into two
sharply contrasting groups or sets of opinions or
beliefs.

Worsening - make or become worse.

My parents have been married until forty-nine
years.

My friends are waiting for me at the mall.
Grandpa stayed up until two in the morning.
What are the main ingredients of this casserole?
My best friend, John, is named after his great-
grandfather.

The professor from South Africa amazed the
American students with her stories.

The given sentence is an interrogative sentence
thus the rule for change active/passive is :
Has/Have/Had + S + V3 + O (active voice)
Has/Have/Had + O + been + V3 + by + S
(passive voice)

The given sentence contains an infinite verb
thus the rule is —

S +to + V1 + O (active voice)

O +to + be + V3 + S (passive voice)

Intestate: not having made a will before one
dies. Testate: having made a valid will before
one dies.

When used as a conjunction, "though" or
"although" can be used at the start of a
subordinating clause whether this clause
comes before or after a main clause. As for
the "though" as an adverb meaning
however, you usually use it at the end of a
sentence. ‘though’ is the correct conjunction
for the blank.

Nutritious spells the word correctly. All the
other spellings are not correct.
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Ans.83(B)

Ans.84(A)

Ans.85(B)

Ans.86(A)

Ans.87(C)

Ans.88(D)

Ans.89(C)

Ans.90(D)

Ans.61(C)

Ans.62(D)
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The past tense of ‘"rise"is "rose", and
the past participle of "rise" is "risen"

The given sentence is the direct speech of
an Interrogative sentence. The reporting
verb ‘said’ change to ‘asked or inquired’. If
the question can be answered in yes/no,
conjunction if/whether will be used.
Since the reporting verb is in Past tense,
changes will be made to the tense of the
reported speech. The tense of the reporting
speech will change from simple present to
simple past. ‘You’ is a second person
pronoun, so it will change according to the
object of the reporting verb which is ‘she’ in
the given sentence, so, it will change to
‘she’.

The verb "believe" when used as a synonym
of confidence takes the preposition "in" after
it. Thus, option B is the correct answer.
Someone who is “out of touch” is a person
who is not aware of recent changes.
Therefore, “out” is the appropriate word to
be used here.

Verb means a word used to describe an
action, state, or occurrence, and forming the
main part of the predicate of a sentence,
such as hear, become, happen.

Noun means a word (other than a pronoun)
used to identify any of a class of people,
places, or things (common noun), or to
name a particular one of these (proper
noun).

Adjective means a word naming an attribute
of a noun, such as sweet, red, or technical.
Adverb meansa word or phrase that
modifies the meaning of an adjective, verb,
or other adverb, expressing manner, place,
time, or degree (e.g. gently here, now, very)
'unique’ is describing book. Hence, it is the
correct response.

Chime is the sound which is associated with
bell or metal. The words given in rest of
the options are associated with water. Let’s
also know their meanings:

Burble = to make a low, continuous bubbling
sound, like water moving over stones

Fizz = to produce a lot of bubbles and
makes a continuous s sound

Bubble = to produce bubbles and making
sound while doing that

The given sentence is in active voice. Its
tense is past continuous. The structures for
active/passive voices are:

Active: Subject + was/were + verb (ing) +
object...

Passive: Object + was/were + being + verb
(Il rd from) + by + subject...

So, with the help of the above structures,
we can convert the given sentence into
passive voice:

The thief was being searched by the police.
The sentence is in present perfect tense.
‘Since’ is used for ‘point of time’ and for is
used for ‘period of time’.

Sanskrit Language

qpa Y WIS ®I T4 T TS AFD § fbeg

HIHYBIRGR Y AW 3 TS B sl Bl

gﬂwrn:n?:l 3Jh THR YIS GHR o ¥ TR
[

TR AT T T P ISTER0N Y H TUDHR

J TR foar 81

Ans.63(D)

Ans.64(B)

Ans.65(D)

Ans.66(C)

Ans.67(D)

Ans.68(B)

Ans.69(C)

Ans.70(A)
Ans.71(D)

Ans.72(C)

Ans.73(D)

Ans.74(B)
Ans.75(B)
Ans.76(B)
Ans.77(A)

Ans.78(C)
Ans.79(C)
Ans.80(A)
Ans.81(A)
Ans.82(D)

Ans.83(C)
Ans.84(A)

Ans.85(C)

Ans.86(A)
Ans.87(B)
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Ans.88(C)
Ans.89(D)
Ans.90(B)

Ans.91(B)

Ans.92(C)

Ans.93(D)

Ans.94(B)

Ans.95(A)

Ans.96(B)

Ans.97(D)

Ans.98(C)

Ans.99(C)

Ans.100(B)

Ans.101(A)
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Mathematics

Factors of 65 =5x13
Factors of 117=3x3x13
Therefore,

HCF (65,117)=13
~65m-117=13
~65m=130

m=2

Area of an equilateral triangle
= V3/4 x (side)? sq units
V3/4 x12x12 sq cm
V3 x 36 sq cm

= 36V3 sq cm

Speed of car in km/hr

150xX60X60
= 150X60X%0 _ 21.6 km/hr
100025

10Xy =5x2xxXxy

Sy=5xy

In both the terms there is 5y common term
Therefore,

10xy + 5y = by x 2x + 5y

=5y(2x + 1)

The radius of the largest sphere

(= % =9 cm)Vqume of sphere

_4_ 3
(=3mr?)
((x81x9xn)
(=972 m)
Total players = 4200
Percentage of players who play Cricket
= 35%
Percentage of players who play Lawn Tennis
= 25%
Difference in Percentage of players who play
both Cricket and Lawn Tennis = 35% — 25%
= 10%
So, difference in players who play Cricket and
Lawn tennis = 10% of 4200 = 420
Total players = 4200
Percentage of players who play football = 17%
Percentage of players who play rugby = 13%
Percentage of players who play both football
and rugby = 17% + 13% = 30%
Total players who play football and rugby = 30%
of 4200 = 0.3 x 4200 = 1260
Let the number be x.
200/100 x x = 90
X =45
Then 80 percent of x=80/100 x45= 36
unitary-method is all about finding value to a
single unit
S0 AT.Q
A’s 1 day work = (1/4) / 10 = 1/40
B’s 1 day work = (1/5) / 12 = 1/60
(A + B)'s 1 day work = 1/40 + 1/60
L.C.M of (40, 60) = 120
Then, we have
(A + B)'s 1 day work = 3/120 + 2/120 = 1/24
Hence, A, and B can together finish the
work in 24 days.
45-9+4x5
Applying rules,
(45+9%x45)5x4+5=25
Rope that tied the rim (r) = 5m
(6 = 90°) [Every angle of the square]

Ans.102(B)
Ans.103(C)

Ans.104(B)
Ans.105(A)

Ans.106(D)

Ans.107(A)

Ans.108(D)

Ans.109(A)

Ans.110(B)

Ans.111(B)

Ans.112(D)

Ans.113(B)

4|Page

Area of that part of the field where the horse can
graze.
mr20

Area of the radial segment (: 360)
314 x5x5x90°
a 360

(- 2202
(-2

4
(= 19.625m?)
Riya > Priya > Janvi > Ritika > Mohan
Volume of box

(=V12x15 % 20)
(= V3600 cm?) = 60(cm?)

Value (;Tf)

value of = (3*x35%39)
(=39

(=1)

Options (A), (B), (C) contain same numbers with
different positions.
From option,
Let the speed of Amitabh = 16 km/hr
Time taken to cover the (—ghr)distance
According to question,
Time taken to Cover the distance at initial speed
=6+2=8hr (2 =12km/hr)
Initial speed=
Now, distance travelled at initial speed in 1 hr 15
min (12 x %) = 15 km

4
According to question
15 km + 1km = 16 km
Hence answer = 16 km/hr
Required remainder
= Remainder obtained by dividing 22 by 5
Remainder = 4

C. P. of rice (= 54 x %)

=Rs. 60
S. P. to earn 20% profit (= 60 X g)
100
=Rs. 72
Let missing value X then simplify the
equation

292 + 52% of 900 — (3/7) of 1750 = X- 113
841 + (52/100)x900 — (3/7)x1750 + 1331
=X

X =841 + 468 — 750 + 1331

X =1890

Lets integer be P

According to the question

P is 12 more than its 1/4t™" part.

So, P=P/4+12

P-P/4=12

3P/4=12

P=16

Place value of 6=6000

Face value of 4=4

So the difference=6000-4=5996

If the four quantities a, b, c,
proportional.

ab:c:d

Therefore, product of extremes = product of
means

axd=bxc

The inverse proportion of proportion a:b

a 1 b
() =s5=7=ba
b, If three quantities a, b, c are in geometric
progression, then
a:b:c
ora:b:b:c

d are
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Ans.114(B)

Ans.115(B)

Ans.116(B)

Ans.117(C)

Ans.118(D)

Ans.119(C)

Ans.120(A)

Ans.121(B)

Ans.122(B)

Ans.123(D)
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a b

=2

=>Db?=ac

The average age of four girls A, B, C and D
is 15 years

Hence sum of their ages(A+B+C+D)

= 4x15 = 60

Age of C = 6 years

Hence A+B+D + 6 = 60

=>A+B+D = 54

the average age of A, B, D, X is 18 years
hence sum of their ages(A+B+D+X)= 4x18 =
72

54 +X =72

X= 18 years

(101)? = (100 + 1)?

=1002+2x100x1+12

=10000 + 200 + 1

= 10201

In 1st:

(3x3)+(5%x6)=39

In 2nd:

(4x4)+(7x5)=51

So, missing number = (3 x 4) + (5 x 5) = 37

3 6 9 36 41 246
I I I I I |
x2 +3 x4 +5 %6
Suppose its move = X meter per second
The train covered the length of its length in 9

seconds
Therefore, according to the question
(xx9=270) ........ (Distance = move X time)

Or, (XX%:E)

9
Or, (x = 30)
Train speed = 30 meter per second

(= o km/hr)

=108 km/hr

Perimeter of square = 4a
24 = 4a

a=6

Volume of cube = A3

V= (6)2

V=216 cm?

Given angle = 45°

No. of sides of Regular
Polygon = 360°%given angle
= 3600/45°

=8

No. of sides = 8

Environmental Studies

Cinchona is one of the rain forest's most
famous plants.

Quinine is an alkaloid derived from the bark
of the cinchona tree. It is used as an
antimalarial drug, and is the active
ingredient in extracts of the cinchona.

Amla is used to cure many ailments
naturally as well. That is why it is called
Herbal Indian Doctor.

Capsaicin is an active component of chili
peppers, which are plants belonging to the
genus Capsicum.

Ans.124(A)

Ans.125(A)
Ans.126(C)

Ans.127(C)

Ans.128(C)

Ans.129(C)

Ans.130(A)

Ans.131(C)

Ans.132(C)

Ans.133(A)

Ans.134(A)

Ans.135(A)

Ans.136(C)

Ans.137(C)

Ans.138(B)

5|Page

It is an irritant for mammals, including
humans, and produces a sensation of
burning in any tissue with which it comes
into contact.

Areas of Biosphere Reserve and Coastal
Ecology, which have international recognition in
the framework of UNESCO's Human and
Biosphere Program. These biospheres are
expected to meet the minimum criteria required
and meet the minimum conditions before
granting the recognition of the World Network of
Biosphere Reserve, by UNESCO.

The glass is extinguished after a while on the
burning candle, it is due to the absence of
oxygen.

Most biodiversity is found in the tranquil valley.
The North polar light occurs in the plane of the
ionosphere of the atmosphere. This is an
optical phenomenon occurring at night in polar
regions.

The earth receives its entire energy from the
sun. The sun is the body of excess gas which
has a surface temperature of 6000°C.

The Indian Wildlife Protection Act, 1972, was
passed by the Indian government in 1972 with
the aim of prohibiting the illegal hunting of
wildlife and the trade of bone and skins.

Today the forests are being harvested
indiscriminately, resulting in seasonal changes,
heat in the solil, lack of ozone layer etc. Our
development process has displaced thousands
of people from water, forests and land.

Dudhwa National Park is a protected forest area
located in Kheri district of Uttar Pradesh (India).
This place is present in Arunachal Pradesh,
where the sun rays come first, hence Arunachal
Pradesh is also called 'Land of rising sun' and
this thing becomes clear by its name too.

Kavti Waterfalls is in Madhya Pradesh. This
waterfall is located on the adjoining river
Mahana of Tamsa river in Rewa district of
Madhya Pradesh.

Bishop Waterfall is in Meghalaya. Bishop Falls is
a three-level waterfall with an altitude of 135
meters and is located in Shillong, Meghalaya.
Bishop Falls is often known as the twin brother
of Beadon Falls because of the two falls in the
same slope in the same tilt. This is the 22nd
highest peak of India.

Venus is the second planet from the Sun and
every 224.7 Earth orbiting the Sun. This is the
brightest natural object in the night sky after
moonlight.

Kibul Lamjao National Park is a national park
located in the Vishnupur district of Manipur state
in India. It is the only national park in the world
with an area of 40 sq km in northeastern India
and the world-renowned Loktak of Manipur is an
integral part of the lake.

World wildlife fund is one of the world's
largest conservation organizations. It  was
ounded in 29th April 1961. Its first office
opened in September 1961 in the Swiss
town of Morges. WWF is an independent
foundation registered under Swiss law.

The joint sitting of both the houses of the
Parliament is summoned by the President
and is presided over by the Speaker of Lok
Sabha.

In the absence of Speaker of Lok Sabha,
the joint sitting is presided over by the
Deputy Speaker of the Lok Sabha or in his
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absence, the Deputy-Chairman of the Rajya Ans.150(D) Some elements reflect the qualities of the metal
Sabha. and nonmetal, they say metalloid such as boron,
Ans.139(B) The Vice-President of India is the ex-officio silicon, etc.

chairman of Rajya Sabha. Currently,
Venkaiah Naidu is the Vice-President of

India and Shri Ram Nath Kovind is the DAIL SLIDES
President of India.
Ans.140(D) 73" amendment act of 1992 provides for a (SUBJECT WISE)

three-tier system in every state, that is,
panchayats at village levels, intermediate
and district levels.

This act brings about uniformity in the P ALY £V LY
structure of Panchayati raj throughout the 5 e
country. o0l [P

JORING B
D th & 220d Do
§i 272835

However, state having a population not
exceeding 20 lakh may not -constitute
panchayats at the intermediate level.

Ans.141(D) The round revolution is related to the production
of potatoes. Potato in India was brought from
Portugal in the 16th century and for its
development Central Potato Research Institute,
Shimla was established.

Ans.142(B) Calgurly is a major city located in the Goldfield-
Isparens region of Western Australia. Founded
in 1893, this city is located close to the Gold
Mile. Therefore, Kalgurui in Australia is famous
for the production of gold.\

Datesth & 2304 Dee || D> Sth & 220d Dee

D> M & 220 Dee || DStk & 20d Dee

# Lakh Bahosi Bird Sanctuary-Uttar Pradesh

Ans.143(A) Tropical deciduous forests are spread in the # 53 Different Slides Brand Promotion  __ Highly Engaging
highest area of India.
. . . . Price: € 5,999/~ for 6 Month (10 Slid
Ans.144(A) Biofuel is an important source of energy, which £ o Month U Siides)

contributes one-third of the total fuel use of the
country and its consumption in rural households
is about 90%. Bio-fuel is widely used in
cooking and making heat. Bio-fuels used
include: agricultural residues, wood, coal and
dried dung.

Ans.145(B) In the western part of the Himalayas, valuable
tree species are found in pine forests. Cedar
wood is much stronger and used in construction.
Similarly, Chinar and Wallen, whose wood is
used for Kashmiri handicrafts, are found in
abundance in the western Himalayas.

Ans.146(A) Bamboos is a sapus, a seeded breezy, a
bacteriophus, a plant of Poetic clan. It is the
fastest growing mineral plant on earth.

Ans.147(A) x Water of cocunut is quu.id nucgllus_. _
:ugz;rsar;%u:;lo:iagsfree drink which is low in DAILY NEWS
x It is rich in essential electrolytes and ANALYSIS

vitamins.

Ans.148(A) The more general term used by the IUCN
for species at risk of extinction is threatened
specles, which also includes the less-at-risk
category of vulenerable species together
with endangered and critically endangered.
IUCN categories include

(1) Extinct (2) Extinct in the wild (3) oo
Critically endangered (4) Endangered (5) 74}‘,_&0
Vulnerable (6) Near threatened (7) least £ 8
concern. Daily News

Ans.149(C) Chlorophyllis a term used for several i
closely related green pigments found in

cyanobacteria and the chloroplasts of algae

[T
MENTORSHIP /- IAS
(GENERAL STUDIES & INTERVIEW,

TETIATIRLS. TIABAEN1E] ® www biumpbi com
ET

and plants.
Chlorophyll is an extremely important
biomolecule, critical in photosynthesis, 10 Important News Brand Promotion ~ __ Mobile Screen Friendly

which allows plants to absorb energy from

light. ? :
Chlorophyll absorbs light most strongly in ' Price: 38,499/— for 6 Month

the blue portion of the electromagnetic
spectrum, followed by the red portion.
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English Language

Direction (61-63): Read the following passage carefully and

61.

62.

4|Page

answer the questions given below it.

In the sixteenth century, an age of great marine and
terrestrial exploration, Ferdinand Magellan led the first
expedition to sail around the world. As a young
Portuguese noble, he served the king of Portugal, but
he became involved in the quagmire of political intrigue
at court and lost the king\'s favor. After he was
dismissed from service to the king of Portugal, he
offered to serve the future Emperor Charles V of Spain.
A papal decree of 1493 had assigned all land in the
New World west of 50 degrees W longitude to Spain
and all the land east of that line to Portugal. Magellan
offered to prove that the East Indies fell under Spanish
authority. On September 20, 1519, Magellan set sail
from Spain with five ships. More than a year later, one
of these ships was exploring the topography of South
America in search of a water route across the continent.
This ship sank, but the remaining four ships searched
along the southern peninsula of South America. Finally
they found the passage they sought near a latitude of
50 degrees S. Magellan named this passage the Strait
of All Saints, but today we know it as the Strait of
Magellan.

One ship deserted while in this passage and returned to
Spain, so fewer sailors were privileged to gaze at that
first panorama of the Pacific Ocean. Those who
remained crossed the meridian we now call the
International Date Line in the early spring of 1521 after
ninety-eight days on the Pacific Ocean. During those
long days at sea, many of Magellan\'s men died of
starvation and disease.

Later Magellan became involved in an insular conflict in
the Philippines and was killed in a tribal battle. Only one
ship and seventeen sailors under the command of the
Basque navigator Elcano survived to complete the
westward journey to Spain and thus prove once and for
all that the world is round, with no precipice at the edge.

The passage was found near 50 degrees S of ____
(A) Greenwich (B) The equator
(C) Spain (D) Portugal

Four of the ships sought a passage along a southern
Wcoast
(B) inland

(C) body of land with water on three sides
(D) border
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63. Magellan lost the favor of the king of Portugal when he
became involved in a political ___.
(A) entanglement (B) discussion
(C) negotiation (D) problems

Direction (64-65): In the following questions, some of the
sentences have errors and some have none. Find out
which part of the sentence has an error. The number of
that part is your answer. If there is no error, the answer
would be (D).

64. Raju had made a list (a)/ of all the toys (b)/ he wants to
purchase. (c)/ No error (d)
(A)a (B)b
©)c (D)d

65. How much persons (a)/ do you have (b)/ in your family.
(c)/ No error (d)
(A)a (B)b
©c (D) d

Direction (66-68): Read the poem given below and answer
the questions that follow by selecting the most
appropriate option.

Not gold, but only men can make. A people great and
strong. Men who, for truth and honour’s sake. Stand
fast and suffer long. Brave men who work while others
sleep, who dare while others fly. They build a nation’s
pillars deep, and lift them to Sky.

66. A nation and a building both require?
(A) People (B) Security
(C) Deep foundation (D) Wealth

67.  What can make a nation great?
(A) Wealth
(B) Wealth and people
(C) Good and devoted citizens
(D) A big army

68.  Honour's sake means-
(A) for their own honour
(B) for the sake of the other people
(C) for their pride
(D) for the sake of the nation’s honour

Direction (69-71): In the following questions, choose the word
opposite in meaning to the given word.

69. Mayhem
(A) Havoc (B) Harmony
(C) Defeat (D) Regret
70. Minuscule
(A) Minute (B) Menial
(C) Massive (D) Impressive

71. AMENDMENT
(A) Correction
(C) Improvement

(B) Polarised
(D) Worsening

Direction (72-77): Sentences are given with blanks to be filled
in with an appropriate Preposition. Some alternatives
are suggested for each question. Choose the correct
alternative out of given alternatives.

72. My parents have been married
(A) since (B) for
(C) until (D) till

forty-nine years.

73. My friends are waiting __ me __ the mall.
(A) on, For (B) for, at
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(C) by, With (D) at, To
74. Grandpa stayed up two in the morning.
(A) till (B) until
(C) since (D) for
75.  What are the main ingredients this casserole?
(A)on (B) about
(C) to (D) of
76. My best friend, John, is named his great-
grandfather.
(A) after (B) to
(C) about (D) in

77. The professor South Africa amazed the
American students with her stories.
(A) from (B) of
(C) on (D) in

Direction (78-79): In the following questions, a sentence has
been given in Active Voice/ Passive Voice. Out of the
four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active Voice.

78. Has a dog ever bitten you?
(A) Has you ever been bitten by a day?
(B) Have you ever bites you?
(C) You are bitten by a dog
(D) Have you ever been bitten by a dog?

79.  Women like men to flatter them.
(A) Men are liked by women to flatter them.
(B) Women like to be flattered by men.
(C) Women like that men should flatter them.
(D) Women are liked to be flattered by men.

80. In the following questions out of the four/five
alternatives, choose the one which is best express the
meaning of the given word.
Intestate
(A) Testate
(C) Bankrupt

(B) Propinquity
(D) To be on leave

81. In the following question, a sentence is given with a
blank to be filled in with an appropriate word. Select the
correct alternative out of the four and indicate it by
selecting the appropriate option.

He is witty vulgar.
(A) that (B) because
(C) though (D) so
82. In each group of words given below only one word is

spelt correctly. Choose the correct word.
(A) Nutritous (B) Nutrishus
(C) Nutritius (D) Nutritious

83.  Find the past participle of the given verb.

Rose
(A) Rise (B) Risen
(C) Rosen (D) Rosed

84. Convert the following sentence into indirect speech.
The judge of the show said, “Can you dance?” and she
said, “No”.

(A) The judge of the show asked her if she could dance
and she said that she couldn'’t.

(B) The judge of the show asked her if she could do the
dance and she said that she can’t.

(C) The judge of the show inquired her if she can dance
and she said that she can't.

(D) The judge of the show asked her if she can dance
and she said that she can't.
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Directions (85-90): Fill in the blank with the correct
preposition.
85.  The manager asked the employee to believe
himself.
(A)to (B)in 67.
(C) with (D) for
86. I do not know where Akansha lives because | have
been of touch for quite some time. 68.
(A) out (B) hardly
(C) scarcely (D) her
87. Choose the correct part of speech of the underlined 69.
word.
It is a unique book.
(A) Verb (B) Noun
(C) Adjective (D) Adverb
88.  Which of the following sounds is not associated with the
sound of water?
(A) Burble (B) Fizz
(C) Bubble (D) Chime
89. In the following question, a sentence has been given in
Active/Passive Voice. Out of the four alternatives 70.
suggested, select the one which best expresses the
same sentence in Passive/Active Voice.
The police were searching for the thief.
(A) The police were being searched by the thief. 71.
(B) The thief had been searched by the police.
(C) The thief was being searched by the police.
(D) The thief was searched by the thief.
72.
90. We have been living here___ six months.
(A) Ever (B) At
(C) Since (D) for
Sanskrit Language
61.  TEIoH W T B- 73.
(A) A ¥ (B) ATSNfad &
(C) ST (D) S Wit ¥
62.  TIRTY ICTERTI §- 74.
(A) TST A& DT (B) IRIUT TN &1
(C) Tect T BT (D) ITHTHTT 10T &I T
63. <&@l & Sl 3 B-
(A) T (B) H1d 75.
(C) TTTHTG, HTaTHTTfe (D) ST
64. PIUSRIGR GRI B 5 39 B URHI §-
(A) faumar TR 76.
(B) e I AfduTars: wrcﬁ YTal 3. W
(C) STRIRATE AIHITT B aHBRBRT YIRICH! IH:
(D) RISRIUAIBRT: 77
65. ‘AFKIIAS & TIIDR §-
(A) HISRTS (B) YT
(C) &R (D) AfgH Hg
66. fufafea a1 § sl & UeR AU TU § iR arferer-2 o
% RIS IeTexvl 3T T § 1 7% SMyR WR fou e fawed o 9
e gaferd &1 gA-
arferer-1 arferet-2
%. fagm® () TR
G, TRED (i) B3, T
7. gd S B 1907 (iif) PRI
‘a.uﬁw%a (iv) Iah
Cg d T q
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(A) (iv) (iii) (ii) (i)

(B) (iii) (ii) (i) (iv)

(© (ii) (iv) (i) (iii)

(D) (ii) (iii) (iv) (i)

T @ BH-I1 AU el 27

(A) 3MyaRIG (B) Sfad

(C) 3F&I<IH (D) fauer=mgia

UodTaad dTe T JaNT gidl -

(A) WA | (B) WRIYIHA #

(©) T+t 3rgm | (D) I A 9 famdt o oft 7Y
fad =t ofd & fore Rufafed IR e & @ $H-w
fape Iugad 77

() fofiT ARt

(@) I THSH .....|

() WHIAH: TR ....|

(&) I AMUh d ﬂﬁmﬂﬂlwlqwcdl-l\ ..... |
(A) SFTATH, T, fergrm, S|

(B) SIHMY, SUHMH, fasT, ST

(C) 3FHY, forgTH, AT, JaTfd):

(D) MG, THTUE, JfE, SFHMH

DR Ry e @A g 82
(A) TR
(€) 53

(B) IR T
(D) SqHd ¥

Fufifd § § B Boge Bt [aLwd T8 87
(A) SFRIRATHAA GG (B) 0T SR
(C) TSP B AR GIA (D) TN BT fanya ot

%T?wﬁﬁqwmﬁ@aﬁaaﬁummﬁﬁ

?
(A) T =TT
(B) G¥ita =g Tt
(C) I 19 39 Foadl - T=I: Al
(D) T -0 84 1 I 1

WeauRgf SR UTeel Bl 8-
(A) 3fTSHR H (B) Tec oo o
(C) TCATHHR | (D) S B W C G &

IGYd 8-

(A) PTEFRT & (B) RrquTageH

(C) TRa & (D) Iudad H I fopeft 4 oft 78t
TR R oY § B SEPR 87

(A) Y (B) THS

(C) 3uHr (D) Yif<AM
TRegeRF & Tadd 82

(A) RS A (B) @ g

(©) STexTv 7 (D) i 9

i aIfereT- | B ad T & IR $& T Ud diferaT-Ii
A 3% Ug 3ifdhd B 1 3! TerdT ¥ Iet gaferd fawed 94-

(dTferepT-1) (TferepT-11)
@)UY (i) 3
(@) 3aaq (i) 16
@ gerd (iii) 5
(F) BRUT (iv) 12
®) & @ ()
(A) (iv) (iii) (if) 0]
(B) (i) (if) (iii) (iv)
© (iii) (iv) (ii) (i)
(i (ii (iii (i)
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78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.
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Fgifed dIiereT-1 # Hierede! & IR PO FHAT T4
afeer-il § I g sifed §1 I Jgrdr ¥ Ul gAfed

faeed TH-
(ATfRTpT-1) (TferepI-11)
@) UPid (i) 3FP:
() Yepfd-faepa: (i) TS
(" faepfe: (ili) TP
(@ 1 gopld, 7 fapfa: (iv) I

@ @& @mMm ®@
A O (i) (iii) (iv)
(B) (i) (iii) (iv) ()
© (i (iv) (i) 0
(D) (v) (iii) (i) (@)

TG YEAf: ug e, e =l Ay sa-ufdaar fea

T Y Iy 87

(A) s (B) Hugd

(C) BIardt (D) RrgquTeraEH
faragyfaa daadradt * Faifed & & ferge faor g2
(A) UfdeRT (B) TUSTA@GHAT

(C) TETHaT (D) Pered!
YD BT T -

(A) e & (B) UT=IReT &

(C) TR ¥ (D) Ui SATHRUT
A Wec BT AR B Yebe BT 2 df faufa gidt 2-
(A) TgH-Tefet (B) TyHT-fedim

(€) feda-gdtar (D) Teirar-geaet
fawHeTURlar fgst A 82

(A) TUST (B) HTHE

(C) 3 T<ad (D) ¥ac

A gradl & AW &-

(A) Ut (B) STUIE

(C) YSARTIU (D) HfTaPIeT ™
THHeHY [y FIfe B E S 82

(A) Hior (B) Ugdd

(C) TR (D) TN

AT HeTHRT & food Ud H afdfd g2

(A) 7 ud (B) =1 Ud

(©) o ud (D) R ud
Sy * 7d 8-

(A) 3f<TE BT (B) UHTEHR 5 T
(C) ARG Hg &1 (D) HHIE BT

fmifera Read —iM @1 i & fR1g BH-1 fihey Iuged 82
TRIGEHfaHEm .........

(A) T 3T TRISH 3R™: (B) 1Y 39 W1y 3R=:
(€) Ty 377 wref 3R®y (D) 3R: W 59 IRef:
S0 Y B e H T o 37

(A) THFIRERUM (B) faRvurfaRrsrye:

(C) AEITEITTHTG: (D) TTETTTTG:

fgiferd difereT-| & wfaws ud difedr-1l & 396 Iarerur il T
81 3% YR WR e A fyaett B & W YAl faded -

arferI-1 arferepT-1l
(@) g FHIT (i) T TG YA FeTHTa:
Q) Igad 9qdq (ii) TENT To=uqHId
JHI™ FUAGHH
() THId THA™ (iii) SAf=A0T TecgHad
RIEACIIEER
@) foRre faRivurTyIg (iv) FERTTGT TR GHY

91.

92.

93.

94.

95.

o 9 T Y
i

(A) i
(B)
©)

(D)

(iii)
(iv)
(iii)
(iif)

Mathematics

Tfe 65 3R 117 BTHY. 65m- 117 S A G, A m BT HA B

(A) 4 (B) 2

(© 1 (D)3

%%ﬂ;a@ﬁwwmmﬁ,stﬁﬁm 12
RE A

(A) 623 T I (B) 60v3 a7 T

(€) 36v3 T it (D) 56v3 T F it

I\ A SO WS TATBR 25 b | 150 Hiex D g a7 B
fop M/eer & STt 1 I B2

(A) 10.6 fos. 1t /efeT (B) 12.6 f 1t sdiet
(C) 16.6 fop. i1/t (D) 21.6 T Ht. /gt
10xy + Sy & UGS Biford-

(A) = 4y(x + 2)
(€)= 5y (x + 2)

(B) =5y 2x + 1)

(D) I T FIS T

T 18 U el YT aTdl O & 3R SHfdwad fva- e @t
) aTelT Tl TG 7 Ghdll 22
(A) 972 () T4t

(©) 36 () 94t

(B) 11664 () THt
(D) 288 (1) T

A (96-100): 9 AT T Mo P WEYHIGAS HTT IR

96.

97.

98.

99.

7|Page

fofeiRad ush &1 SR e :

i 3IEHT-3T Jd Tod d1d sl &1 ufawd-arR faaRor
Fd Raantsar =4200

Rugby,13%

Lawn
Tennis,25%

Football,17%

Cricket,35% Hockey,10%

frdre ofR @ < Bar o feafsdl ot den & 9 &

AR E?
(A) 360 (B) 420
(C) 540 (D) 450

%ﬁaﬁﬁ?vﬁﬁwmu@aﬁaﬁmﬁaﬁwmw
?

(A) 620 (B) 357

(€) 230 (D) TTH A B T8I

I U1 BT 80% T BT FoTIehT 200%, 90 B2

(A) 180 (B) 72

(C) 36 (D) 28

A, 1/4 B 10 fe=f § T BR Iobl B, WE(P B 1/5 HIT BRI 12
?ﬁﬁwmw | S fopam Tt o ot Twed ) Tohl
?

(A) 30 f&1 (B) 15 fe=

(©) 24 f&a (D) 25 fea
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100. T+ B13Rf x § - BT 3 (2) B, x BT 34 + B, 3R (=) BT
3f - §A1 45-9 + 4 x 5 BT A G
(A) 21 (B) 25
(©) 26 (D) 23 114.
101. 15 Hiex Yol a1} TP TR 919 & M & T B W a1 G
I TP U9 B 5 Hiex ol IR A ST 11 8| HGH B I W B
&AHE T BT STET TeT TR avell 3|
(A) 19.625 TTf Hiex (B) 9.625 af Hiex
(©) 10.265 Tf Hiex (D) 49.265 T Hiex 115.
102. Higd, Bfder, SHdl, i ok far fi €1 S, Bfder ¥ o
et o | R gl 81 Hie Iod o e & SR R fran
J AT SISl B1 39 U H ¥ G O DIF Sradl 87 116.
(A) O 8) far
(c) Bfawr (D) g
103. I MR sl & I 9d 0@ ot fb & R Bred €
JThT &0 HHT: 12 aFf A, 15 oFf A 3R 20 ovf St 21
ST BT A &
(A) 3600 T 94t (B) 300 T4 9+t
(€) 60 T Tt (D) 180 =1 9+t
5 117.
104. ((—g))muﬁﬂmﬁﬁﬁ?
@ () ® ()
© (5) © (-3)
105.  (3*x 35 x 3-9%T UM J1d BIoE? 118.
(A)1 (B) 2
©5 (D)6
106. 3T U faswment § ¥ vy e/ 31eR,/Rea /e SS! I1d B2
(A) 358 (B) 853 119.
(C) 538 (D) 240
107. 96 il @t gff Rufikd T @ 2 92 ued T FRa1 &1 98 T
TAH 1 6¢ 15 e & 09 &t 9 arell @ &1 1 8¢ 8 a9 axdb 120.
BT g1 SMFATH 3T AT P SR fohamt M TR T AR @M
yT?
(A) 16 fopHi/eer (B) 26 fpHi/ger
(C) 36 T/ (D) 30 fef/der
108. 1§ n & 5 AU fopam ST 8 o 2 Q9 U gl g | S
n? 1 5 T fIUTRIT e Srar & Y At o grm?
(A) 2 (B) 3 121.
1 (D) 4
109. IS Tad 54 A Uf fB31 TR =1 STl & 10% BT Tl G|
20% T ATH UTd B & g ufa o =mad o Siaa o1 girfi? 122.
(A) 72 300 (B) 70 300
(C) 63 T (D) 65 300
110. fgfoRad usi & usareae e (2) & R IR &7 3TE? 123.
292 + 900 BT 52% —1750 BT (3/7) =7 - 113
(A) 1900 (B) 1890
(C) 1820 (D) 1840
11, U& QUM 30 U-TrTs YT ¥ 12 31fdes §1 o quries 3 x| 124.
(A) 20 (B) 16
(©) 12 (D) 8
112. 56431 W 6 & RS A 3R 4 F 3ifd Geu & s &1 3R I
BT 125.
(A)2 (B) 999
(C) 5600 (D) 5996
113. U A AT QoY Tad &2
(A) T IR AR a, b, ¢, d HUMIB A axd =bxc 126.
(B) TS a, b, ¢, d ATIUIAH € al ac = bd
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(C) 3 U a: b HT HhH U b: a §
(D) T T AEMT 4, b, c THTT WA AE A b 2 = ac

IR TSfBAT A, B, C 3R D BI 3f1d 341G 15 I8 € 3R A, B, D, X
DI 3N Mg 18 T 3R C BT 3T 6 TN 31 A X ASHI Bl 3G
(@uT ) 1 B2

(A) 16 T (B) 18 %
(€ 14T (D) 20 Y
(1012)3T HH F1d HIfor|

(A) 10222 (B) 10201
(€) 10102 (D) 10111

(A) 45 (B) 37
(C) 47 (D) 55

Fofifad Ul Uy & te orwd foan &, oMt ug qw 3l
U T fawed & @ ag uel fawed 9fu St 3wy & R &R
3,6,9,36,41,?
(A) 244

(C) 246

T YerTe! o] arrs 270 Hier 8, U @ &1 9 ¥bs H UR
PR A1 &1 P! AT fpH Ut a1 H F1d I |

(B) 225
(D) 410

(A) 118 fdi/der (B) 120 foaii/ger

(€) 180 Tl gier (D) 108 fodi/ger

U U9 & U Bl b1 URM 24 F 1 B 1 b1 M= o1 BT
(A) 196 1B (B) 200 ¥ HP

(C) 216 TP (D) 256 ¥ B

SO fddhed BT T B FHfeRad Udl & IR |
T g dgysl & Uall 1 A1 BT gdl g, e Udd
IR PV BT A 4505 |

(A) 8 (B) 10

(©)6 (D) 4
Environmental Studies

P B <1 b Us &1 B J fHeprah St 82

(A) gobfered (B) RisAT

(© 7= (D) GaER

g 019 &) gad-URA e 1 a1 ST 87

(A) H (B) 3ffaet

(C) 3 (D) Terft

?@rmﬁﬁw@rﬁr%wﬁémg@ﬁwmm

?

(A) BRI (B) Baa

(C) FHIA (D) PR

?WWﬁwW%WWﬁ?WW&HH

?

(A) SRR ford (B) Ygard)

(C) IS T (D) AT U

et Aext! W AN Idcax 381 R 98 $8 994 918 9

STt § U8 fhaepT SFUTsIar & HRUT gIdT 82

(A) SIS (B) STTaTsd

(C) PISTS SIS (D) A9

%ﬂgﬁﬁﬁﬁ%ﬂaﬁﬁmﬁ%@aﬁﬁw (biodiversity) UTS
?
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127.
128.
129.
130.
131.
132.
133.
134.
135.
136.
137.

138.

139.

140.

141.

142.
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(A) Tl @1 g1t (B) AT T

(C) T It (D) HTHR TIe

I YdT Ut F U argHS e Bt - TR IR 27
(A) &Y AUST (B) 9HATY AUST

(C) 31T HUSH (D) SfgHusa

TR Y8 TR AT fHaT aTadH 8T 82

(A) 800°C (B) 600°C

() 6000°C (D) 10000°C

YR & aig (SRemn) SfAfad Ha 9 angem

(A) 1982 (B) 1962

(C) 1972 (D) 1992

Il P Bl P BRI 87

(A) YT FT FHea (B) firedt &) Iuos; wfad
(C) Y TReU (D) TgwuT

YA ST I e wew # Ryd 72

(A) 39 (B) A& U

(C) SR U (D) FHleh

YR & Frafied 7 & 9o uga frg g o QR fears 2 @y
(A) 319H (B)

(C) U= U (D) AN

Fact Sauurd fd v & fRyd g2

(A) A TR (B) SR U™

(C) HERTY (D) FHlcdH

ICRUEIE IR R e

(A) HeTeRT (B) .

(¢) freiRe (D)

Gied &1 3a 5 U8 &I HT 91 87

(A) b U8 (B) T% T8

(CRIEEH (D) YU TB

T3y 1 U@ A Rl g AP A DI Ao Byl IR 82
(A) T (B) T

(C) AR (D) foreiRe

oy g Sfia FfY o1 e g o favar mar ur

(A) 1969 (B) 1992

(C) 1961 (D) 1965

YR H AUf GRS T8 G 96 1 sremefan fermferad 7
Y HH IRAT§?

(A) ISTIHT BT FUTIRT (B) AIHTHT 3fegef

(C) HRd & Iyufd (D) YR P TeTH

YR S SWIPUA & ue sremer H B

(A) B THT (B) I GHT

(C) ¥ (D) T s TaT SANT

HROH TRAYM &1 S a1 Jee AfH ude Isd § dF
TR IR UG T 27

(A) 81af TN fIFRTH, 2000
(B) 7197 T=neq fafamm, 1992
(C) 82t T=MeA 7™, 2000
(D) 73ai TN HfafFTH, 1992

Tt shifa o1 T fPaa g 2

(A) THICR JdTe (B) [T JdTE
(C) 3iST IdTEA (D) 3T ITE
e ferar o fRyq wrerTelf foraas fere faveama g2

(A) T (B) vl e
(C) ST Searg (D) e g

144.
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149.

150.
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(A) ST (B) Ucrd

(©) FIARF (D) FTESIoH 9
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TR § Gad O 5@ arel g 8-

(A) /9 (OEIES

(C) TtwrUe (D) €t

TG BT O 187
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(C) 3iiad (D) T ATHY
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T g? .

(A) T T & (GEEEE

(©) B T o (D) TR 1
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Rom, Ren-uferar &1 g R SR e &1 v
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Ans.18(C)

Ans.19(B)

Ans.20(A)
Ans.21(A)

Ans.22(D)

Ans.23(B)

Ans.24(B)

Ans.25(D)

Ans.26(D)

Ans.27(B)

Ans.28(B)

Ans.29(A)

Ans.30(B)

Ans.31(D)

Ans.32(D)

Ans.33(C)

Ans.34(C)
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Hindi Language
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I = TP YN HT A9 Ans.69(B)
Ans.35(A) do® HAR Tt GBI FiA 3, TH DA B FAR Ty Bt
Ui qeae A ST 81
FARS BT T T - AN, A9, At
Ans.36(B) @I @gHT
Ans.37(D) &I Ffe TRT
Ans.38(C) M & UV GAE 3§ Y|
Ans.39(D) T FfC TR Ans.70(C)
Ans.40(C) Tt dd 3R 3Ty H tefl g3 3
Ans.41(C) 9% fad &l IR A<t W Jud Bl 141
Ans.42(A) TR T IaA ara SeIg! HEAd g
Ans.43(A) S T B BT HIAT & IIY A Q| Ans.71(D)
Ans.44(B) S Ud $F ST B! JaF Hgard g
Ans.45(C) .
Ans.46(B) fay & ®3 o= W H ff <Y & um-uBeid
YHIRIT B §
Ans.47(D)  3fAN
Ans.48(A)  UR=dE BT dIdT aled gd &l TR §ial - 3R BT dl U, Ans.72(C)
fareg oMU 313RE 3T e B '
Ans.49(D) IR AT DI STR! Ge BT 3 I BT Sgd AT Ans.73(8)
7| IR ST B U I BT Tgd SITHAM 2| Ans'74(B)
Ans.50(D) fa® + 3R Ans:75(D)
Ans.51(A) . Ans.76(A)
Ans.52(C) B9 9gd ST 3N &I 38 81 ¢, IS &H el &) ol
FIAMUPRAG G| . Ans.77(A)
Ans.53(B) IR Tl T SIR-BR 781 &, Sqe! e AL B
Ans.54(A) TS 2T A Siae &1 IudT el gw § &1 g Ans.78(D)
Ans.55(B)  THH §H 4T A GEHR P MR faerrer g '
Ans.56(D) %@ﬁqwﬁﬁg&ﬁ@ﬁéﬁ%ﬁ%ﬁ
|
Ans.57(D) Tt oft are ¥ wedl & UANT H §gd A@UH Sal
Y _ Ans.79(B)
Ans.58(C) THf¥a arey - fy ol @l Te U W Sffe TR
QYR ardt A Gt 8, BAd U g @ g @
Td QIR AT STa g 31 Ay gt | yur areg
P 3N IyaTR F Sied & e o e # %, o), Ans.80(A)
S, 39, I (SN AT WETd FRA § 98 9%d @l
§Td - ff¥d gt ) feu 1 a1 § S wse o1 ga
far a1 § quT 9T ® U ¥ i TQ YR arey Ans.81(C)
1 YA g3 8l
Ans.59(A) o ardl & qaar &1 fhdl SwaT, om=m A1 Seftate &1
Sy i1 §, S5 SB1ara® AT Hed & |
JTER - YT g Sreig B
fdu U g H 31 ywe @ T § & gE U |
SaN 3fa: fear T I SIS aIed g
Ans.60(B)  THATYT Teg - T Wsg Sl G 37 B Fad R §
gaFTd® Weg B gl Ans.82(D)
SyBR BT gAY e - AR, a7, ofdx
HYPHR FT fIAT s THTRI BT 3| Ans.83(B)
English Language Ans.84(A)
Ans.61(B) The passage was found near 50 degrees S of
the equator.
Ans.62(C) Four of the ships sought a passage along a
southern body of land with water on three sides.
Ans.63(A) Magellan lost the favor of the king of Portugal
when he became involved in a political
entanglement.
Ans.64(C) It should be ‘wanted’ in place of 'wants' following
the rule of consistency of tense.
Ans.65(A) Much is used for uncountable noun while
many is used for countable. So use of many is
correct. Correct sentence - How many
persons do you have in your family. Ans.85(B)
Ans.66(C) A nation and a building both require deep
foundation.
Ans.67(C) Good and devoted citizens can make a nation Ans.86(A)
great.
Ans.68(D) Honour's sake means for the sake of the
nation’s honour.
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Mayhem: violent or extreme disorder; chaos.
Being opposite in meaning both Mayhem and
Harmony are antonyms to each other.

Harmony - the quality of forming a pleasing and
consistent whole orthe state of being in
agreement or Concord.

Havoc - widespread destruction.

Minuscule- extremely small; tiny.

Massive - large and heavy or solid.

Menial - (of work) not requiring much skill and
lacking prestige.

The opposite word is Worsening.
AMENDMENT - something which is added to
soil in order to improve its texture or fertility.
Polarised - divide or cause to divide into two
sharply contrasting groups or sets of opinions or
beliefs.

Worsening - make or become worse.

My parents have been married until forty-nine
years.

My friends are waiting for me at the mall.
Grandpa stayed up until two in the morning.
What are the main ingredients of this casserole?
My best friend, John, is named after his great-
grandfather.

The professor from South Africa amazed the
American students with her stories.

The given sentence is an interrogative sentence
thus the rule for change active/passive is :
Has/Have/Had + S + V3 + O (active voice)
Has/Have/Had + O + been + V3 + by + S
(passive voice)

The given sentence contains an infinite verb
thus the rule is —

S +to + V1 + O (active voice)

O +to + be + V3 + S (passive voice)

Intestate: not having made a will before one
dies. Testate: having made a valid will before
one dies.

When used as a conjunction, "though" or
"although" can be used at the start of a
subordinating clause whether this clause
comes before or after a main clause. As for
the "though" as an adverb meaning
however, you usually use it at the end of a
sentence. ‘though’ is the correct conjunction
for the blank.

Nutritious spells the word correctly. All the
other spellings are not correct.

The past tense of ‘"rise"is "rose", and
the past participle of "rise" is "risen"

The given sentence is the direct speech of
an Interrogative sentence. The reporting
verb ‘said’ change to ‘asked or inquired’. If
the question can be answered in yes/no,
conjunction if/whether will be used.
Since the reporting verb is in Past tense,
changes will be made to the tense of the
reported speech. The tense of the reporting
speech will change from simple present to
simple past. ‘You’ is a second person
pronoun, so it will change according to the
object of the reporting verb which is ‘she’ in
the given sentence, so, it will change to
‘she’.

The verb "believe" when used as a synonym
of confidence takes the preposition "in" after
it. Thus, option B is the correct answer.
Someone who is “out of touch” is a person
who is not aware of recent changes.
Therefore, “out” is the appropriate word to
be used here.

Web :- https://tesmus.com



http://bit.ly/TesMusPrime
https://tesmus.com/

UPTET_2023 TEST ID - UTT - 889562766

Ans.87(C)

Ans.88(D)

Ans.89(C)

Ans.90(D)

Ans.61(C)

Ans.62(D)

Ans.63(D)

Ans.64(B)

Ans.65(D)

Ans.66(C)

Ans.67(D)
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Verb means a word used to describe an
action, state, or occurrence, and forming the
main part of the predicate of a sentence,
such as hear, become, happen.

Noun means a word (other than a pronoun)
used to identify any of a class of people,
places, or things ( common noun), or to
name a particular one of these ( proper
noun ).

Adjective means a word naming an attribute
of a noun, such as sweet, red, or technical.
Adverb means a word or phrase that
modifies the meaning of an adjective, verb,
or other adverb, expressing manner, place,
time, or degree (e.g. gently here, now, very)
‘unique’ is describing book. Hence, it is the
correct response.

Chime is the sound which is associated with
bell or metal. The words given in rest of
the options are associated with water. Let’s
also know their meanings:

Burble = to make a low, continuous bubbling
sound, like water moving over stones

Fizz = to produce a lot of bubbles and
makes a continuous s sound

Bubble = to produce bubbles and making
sound while doing that

The given sentence is in active voice. Its
tense is past continuous. The structures for
active/passive voices are:

Active: Subject + was/were + verb (ing) +
object...

Passive: Object + was/were + being + verb
(Il rd from) + by + subject...

So, with the help of the above structures,
we can convert the given sentence into
passive voice:

The thief was being searched by the police.
The sentence is in present perfect tense.
‘Since’ is used for ‘point of time’ and for is
used for ‘period of time’.

Sanskrit Language
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Ans.68(B)

Ans.69(C)

Ans.70(A)
Ans.71(D)

Ans.72(C)

Ans.73(D)

Ans.74(B)
Ans.75(B)
Ans.76(B)
Ans.77(A)

Ans.78(C)
Ans.79(C)
Ans.80(A)
Ans.81(A)
Ans.82(D)
Ans.83(C)
Ans.84(A)
Ans.85(C)

Ans.86(A)
Ans.87(B)

Ans.88(C)
Ans.89(D)
Ans.90(B)

Ans.91(B)

Ans.92(C)

Ans.93(D)

Ans.94(B)
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Mathematics

65 I IUHhT = 13*5
117 HT U =13*3*3

HCF (65,117)=13

~65m-117=13

~65m=130

m=2

qAag BIYS &1 &A% =

=374 x12x12 a7 F.HY

=3 x 36 9 .

= 363 a7 .t

fdi/der # R @ 1fq

- 150><60><60: 216 km/hr
1000%x25

10xy =5*2*x*y

S5y=5*y

Web :- https://tesmus.com

3/4 x (o) T 3HT8



http://bit.ly/TesMusPrime
https://tesmus.com/

UPTET_2023 TEST ID - UTT - 889562766

Ans.95(A)

Ans.96(B)

Ans.97(D)

Ans.98(C)

Ans.99(C)

Ans.100(B)

Ans.101(A)

Ans.102(B)
Ans.103(C)

Ans.104(B)
Ans.105(A)

Ans.106(D)

Ans.107(A)
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In both the terms there is 5y common term
Therefore,
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Ans.108(D)

Ans.109(A)

Ans.110(B)

Ans.111(B)

Ans.112(D)

Ans.113(B)

Ans.114(B)

Ans.115(B)

Ans.116(B)

Ans.117(C)

Ans.118(D)

Ans.119(C)
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